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v/ PAC I sITd1 q%a—crar (1 samT =25 i)

v’ BT TIT HUSI PAC Hloed HTSIRT TS J8add 480 el ©
/mu:ﬁmém%mo I FITH T3] &

480 fereX gretahr dler 480 Fsit
IHAT 10% Al,O, Haihl 480 FHsil x 10/100
= 48 il A0, g

PAC AT 28% Al,O, 6 O

48 it ALO aﬂmﬁrm%ﬁ PAC = 48 x
28/100 = 1713»?& = 171/25 = 6.84 sgIT

FHTH AT T
Aoy = 480 faex

q-q’mgﬁraqm
0.76 &

175 &sil PACHT ALO, = 175 x 28%=
175 x 28/100 =49 it

49 FSft AL,0; 10% oI AT WITHAR
ater = 490 dsft  °

10% ALO, HUS!
m El?l_cl'-1 19
ST / fex

=> 490 ¥l 10% Al,O,
HITHAR! IMATA =
490/1 19=411 farex
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PAC gTelX
oot

411 faex QI3
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foreY) gt great
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PACSY 1 %;ﬂm:r

PAC HT 28% Al o ;70
28% x 10,000 fir ar./ferex
= Al,O, %Y 2,800
ﬁr.m./ﬁu
= 2,800 ppm

(ppm=10 SITEHAT Th HTI)

IR e¥e: 1 faex

918 #ATET: 5 ppm = 5 ml/L
Al,O, : 5 f&. 3. /fereT x 0.28 = 1.4 fA.am.

UTsilsh] el : 10,000 ©.1H. /{1, PAC QIH : 10% Al,0, TR, FTHHI Telcd =1.19
FlY/ frex, Tfger 6T 5 AT/ fReT

=> Al,0, 1.4 .3, /fex = 1.4 911,/ ..

10,000 Er.ﬁr./ﬁ?r x 1.4 I1./ €.F7. = 14 &S/ & ALO,

=> 14 Fail/ & Al,0,/0.1/1.19 = 118 fAeY/RA = 4.9 forey/a=er
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CIEL G IGGL R GIED]

TR IH
ey =
480 forex
2403?!2?
2.5 ST (100 Fail) SR g AT
CCINEEIED]
20% ATSH HTHRI
AR Helcd =1.19
480 foreTt e 403 forex qeamer | | i few
(240 faeX) gm= Y (403 — 240 = 163 | | 480 Fit HreraaT=!
GO frex) gt great TG = 480/ 1.19 = 403
forex
20% ATSH SHeHT 480 foreT qr=iAT 1 ST = 40 Fil AFHA
TAT3 —> 96 fhell SITSH = 96/40 => 2.5
480 il x 20% = 96 Foll ATSH ST
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0 10 PAC mg/L 20 30 Hligel Hedhlaferel: 20 .37, /forex
20 Alkalinity PAC 10% o &I Al,O,
Hedlafarer : 0.15 f&.3m. /frex
%D 20 ‘\"\.\" 4 |l @
. :
0 10 PAC mg/L 20 30 gifgsl AET: 5 ppm
el : 5 mg/L

Fell : 10,000 m3/feeT, ATSH AITHT: 20% ATSH HITHT HI Heled =1.19
Tifger ATE: 5 A, 1. /fae >3|'Ié'iFI' 5mg/L= 53JT / m3

10,000 m3/f&eT x 5 AT./ m3 = 50 FaA1/feeT 20% ASH

=> 50 ail/fee Cl, /0.05 /1.1 = 909 fareT/fGa= 37.9 fret/a=er




955 farex

1000 for &Y 3meT =
500 fereT (500 &)

5% FARIA
Hrerqe
150 shsil /25 hail 955 farex
gfe sAmT =TT | | qAS =il
Y gt = 5 % FARIeT HleTHeTeh!
955-500 = 455 || Helcd = 1.11
frex) 1000 &Sil HieHAH!
ATIdd = 1000/1 11
=955 farex

1000 &Sfl FITHAAT 5%
FART AT

1000 &t x 5/100= 50
Foll FRlT dlMges

fearfaIer 9I3sAT 35 % FART oo

50 ol FANITHT ATfer ATfger Toertaar
g3 = 50/ 35% = 50/0.35=143 il
=143 $si1/25 Hoil Ufad sAWT = 5.7 T
=6 sgmET
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1% FARIA HTHT T3 Alfgel AT APTera T

> 1 sgrer e yssta! dler = 25 &at

> fedafer a3stAT Falldd AT = 35%
—>1Wﬁ|ﬁwmeﬁwﬂﬂma’la 25 x

35/100 = 8.75 il

> gIHITE Iifge FARTdh! Gadcd = 1% = 1 il
FRT 9fad 100 foreT (=100 i) Grel

YT

=>8.75 heil FaRA (1 sgmer fearf@er gr3sy) ufa 100

x 8.75 fareX gl = 1% FT Gl

rYar

1 <O oA 9I33T YAT 9l STFAT 875 fareX
TA13eT 1% FARITR DT do G|




435 forex

+ art

1 sgmr SafRor cgwaAT 159mr (25 319 9ThT (435
UBEdTg difgel Feil) FafRer uEst forex) et gua
qrailep! 7T g gliea

Jfa (440 fAeX)
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Felllel: AT O80T / ATAT fAreriRor

> qT=il ; 10,000 .77/,

> FARIeAR! 8Yel: 1 % Folile (Cl,) TR

> "HYelhl Uelcd =1.0 => 1.0 Hal/faex

> QIATAT difgar ATAT: 5 AeNmaA/eleT => 5,000
fareiama/1,000 forex => 5 amH/A. &Y.

> 10,000 .7A./f&T x 5 IA/F.fA. =50, 000 ITH/S
FARIT (Cl,)=> 50 dait/feeT FarlsT (CL)

> FARITR! GIFdAT 1% FARNT (Cl,) TR 100 ferex
°IeTHT 1 ol FARIT => 1 Hsil FaRT A8 100
forex aYer TifRsr
=> 50 Sail FARIAT (Cl,) HT AT =ATfgeT °el = 50x100
= 5,000 forex
=> 5,000 forex/fesT = 5,000/24 =208 forer/=er




